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F_AD_E6_B3_95_c67_472039.htm 41. Under a provision of the

Constitution that was never applied. Congress has been required to

call a convenshy.tures of two-thirds of the states. A. was never

applied, Congress has been required to call a convention for

considering possible amendments to the document when formally

asked to do it B. was never applied, there has been a requirement that

Congress call a convention for considershy.ments to the document

when formally asked to do so 1. 句子的完整性(一级排除C，D )

Whereby 是个从属连词, 句子结构： 加上连词 whereby 造成没

有主句 By introducing the subordinating conjunction whereby, C

and D produce sentence fragments. è无主句 2. 时态 ： 现在时 和

过去时 不能统一(二级排除A,B ) 3. 表示目的用不定式 call ⋯ to

do 比 call .. for doing 要好 4. 代词： 指代动作的时候 用 do so , 

不用 do it. uses of a pronoun (it) with no noun referent. 5. There has

been 不好 100Test 下载频道开通，各类考试题目直接下载。详

细请访问 www.100test.com 


